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MODERN BANKING PRACTICES

]
‘ Paper : 603

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Choose the correct answer : 1x10=10

Wz Teach 1R Ofsredr
(a) In which year was the State Bank of
India established?
@ 57e SReE (@5 @< ARl 1 (2feE 2
(i) 1921 / 553> (i) 1948 [ 58V
(ii) 1949 / 358>  (iy) 1955 / >de¢
(b) Schedule 10 in the bank balance sheet
relates to
@F TEE-AGd So TR Wppe TEH T
RREOEE]
(i investments / Rfvczma
(i) advances /[ 9T
(i) fixed assets / ¥ ~dfe
(iv) other assets / Sl =Afe
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(2)

(c) In which year was the Reserve Bank of
India nationalized?

@M e sEeN e @ weEed 39
C=2fRe 2

() 1934 / s»es
(i) 1935 / svee
(iii) 1948 / S»8v

(iv) 1949 / 358

(d) Statutory obligation of a banker is/are
to

@9 Rt nifeg 2°9

() honour customers’ cheques
ARFY (OF 5T F41

() maintain secrecy of his customers’
" account ~

21259 251/ cansinEre! 758 41

(i) honour customers’ bills

RIES TR Sl ST BT
(iv)] Both (i) and (i)

(1) == (1) T 53
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(3)

(¢) Cash credit and overdraft are granted
5% Y e AR eme w9 5y
() through the savings  deposit

account
T &l RB7 wREce

(@) through the current deposit
account
vfers iR wmcs (i

(i) through the fixed deposit account
2R o RorR wRce

(iv) All of the above
ST TR

() A collecting banker is given protection
only when he collects

<51 SRR R T o = o 2
IR FE &9
() a crossed cheque
G @IS (5
() a bearer cheque
G =P 5
(iti) a multilated cheque
G FHIET
(iv) All of the above
S AFCAI
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(4)

(9) Garnishee order is issued by

MR 18R e 33

(i) the banker
(SNa]

(i) customer of the bank
(RF9 Ar=s

(i) the court
WIS

(iv) None of the above
8oRT B8 w5y

(h) “Cash credit is a secured advance.” The
statement is

ol el BRI e 177 Sfechr
(i) correct / W%

() incorrect / oRy%

i) “Advances of a bank represents its
assets.” The statement is

“ T WOE TR e iy w1
T

(i) correct / W&

(i) incorrect / Sm
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(5)

“Endorsement is a must for a bearer
cheque also.” The statement is

“9g AT GFS  PRIT P Fom
VR 177 ST
(i) correct
ek
(i) incorrect
R

Answer any five of the following questions :

2x5=10
e R e ok e Teg forg
(@) What is retail banking?
WAl &= 2

(b) What is bank balance sheet?
@& Sge-ig Jfeica 1 3@ 2
(c) What is scheduled bank?

SPHITE [@5F IR @0 ?

(d) State how a bank becomes the customer
of another bank.

9Bl (I5F FCIF AW Bl (@559 5T 27 I,
forar

(¢) What is current account?

vfere f351el F1F e 2
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(6) (7))

N »

) Explain the different types of business
credit.

RICIR IS CE RS APTPTR 130 <591 |

/ (f/ Name any four documents of title to the
goods.

R @en iRy R wfEieE-owT
fereir |

What are the special features of bankers
lien? -

@F Fe9 Row @PErez & 752

Distinguish between cheque and bill of
exchange. . 1

oo e R Rer Jrere 2cen (e |

(g) Write two advantages of bearer cheque.

=T (59 o1 R fera o

(h) Define customer of a bank.
G A1ePe ke o |

Answer any four of the following questions (in
about 200 words each) : 5%4
e R e SR e Taw o (At oo b1
g foeqo) |

Answer any four of the following questibns (in
about 600 words each) :

flare & @ vIRG! o Teg B (afShr voo O
*Wﬁ%@?@) :

(@) Distinguish between commercial bank (a) Describe the functions of modern

and investment bank. commercial bank. 10
TS o W R @ e ¢ Syl AR (@9 FROEZ 996 9 |
T | :
: ; (b) State the various assets and liabilities
(b) Prepare a specimen of a bank balanei contained in a bank balance sheet. 10
sheet. ,
1} @9 Tge-cme wege Rfen Tfe we
QY (AT TS~ AL 2AFS T4 | CTPTYEE 9901 %41 |
(c) fState the characteristics of negotiabl () Discuss the general relationship
nstruments. between banker and customer. 10
FBGICII9N T B S 1 | @ WIF AR qEE WRG TR e
HICEeAT 41 |
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[l

(8)

(d) [i} Discuss in brief the credit process

in a bank.
CRPT AT IR S ey <7 |

() How banks manage their non-
performing assets? 4
AT R ARSIz e
IS %9 2

(e) State the statutory protections granted
to the paying banker under the
Negotiable Instruments Act, 1881.

PV BN WA woE wimg wTee
AR T M 391 f[(ifdqm T

TIEPTR 9641 311 |
() Write notes on (any two) : Sx2=1(]

BT for (R e o)

() Branch banking system
T GRRR 1S

() Joint Account
CIKRERE]

(iii) Holder in due course
RRUSECE S

(iv) Principles of bank lending
G A NS

* %k ok
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